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QUESTION 1

Refer to the command output. Which statement is true regarding this command?

ip route-static 10.0.12.0 2552552550 192.1686.1 1

A. The configuration represents a static route to the 192.168.1.1 network
B. The configuration represents a static route to the 10.0.12.0 network.
C. The preference value of this configured route is 100.

D. If the router has learned the same destination network via a dynamic routing protocol, the static route will always take
precedence.

Correct Answer: B

QUESTION 2

Refer to the graphic. An administrator has configured RIPv2 in the two routers. What will happen after configuring the
following commands: (Choose all that apply)

[RTA-Serial0/0/1] rip output
[RTA-rip-1]silent-interface s0/0/1

A. RTA will have the route learned from the RTB

B. RTB will have the route learn from the RTA

C. RTA will have no neighbor relationship with RTB
D. RTB will have no neighbor relationship with RTB

Correct Answer: AD

QUESTION 3

An ACL does not filter traffic generated by the Huawei device towards other devices, but only filters forwarded traffic,
including traffic generated by other devices to access the Huawei device.

A. True
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B. False

Correct Answer: A

QUESTION 4

When a network engineer enters a command, the following information is displayed:
Error: Unrecognized command found at \\""\\' position.

Which of the following statements is true about such information?

A. The parameter type is incorrect.

B. The entered command is incomplete.

C. The entered parameter is not specified.

D. No keyword is found.

Correct Answer: D

QUESTION 5

The backup portin RSTP can replace the failed root port. Huawei question bank battle report group: 434299778
A. Correct

B. Error

Correct Answer: B
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